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QUESTION 1

Migratng a host to the Nexus 1000V requires what informaton? (Choose two.)
A. source port group

B. VSM IP address

C. vNIC failover policy

D. DVUplink port group

Correct Answer: AD

QUESTION 2

Which VNX drive type should be used for ESXi boot LUNs?
A. largest available NL-SAS

B. largest available SAS

C. smallest available SAS

D. smallest available EFD

Correct Answer: C

QUESTION 3

While using the vSphere Client, you are experiencing high latency between issuing a search and obtaining a response
from one of the four vCenter servers confgured for LinkedMode. When using the vSphere Web Client, the inventory tree
does not load properly and ofen shows objects out of date. How would you improve the troubleshootng process

A. Update the logging level in vCenter to verbose, and restart the vCenter services.

B. Update the logging level for the Inventory Service to TRACE, and restart the Inventory Service.

C. Update the ESXi logging level to verbose, and restart the host.

D. Update the logging level for the Inventory Service to verbose, update the vCenter service to verbose, and restart all
the services.

Correct Answer: B

QUESTION 4

Which steps should be performed to install PowerPathVE updates to the ESXi host through VMware Update Manager
(VUM)?



A. Enter maintenance mode, import patches, create the baseline, atach the baseline, and remediate host.
B. Disconnect the ESXi host, import patches, create the baseline, atach the baseline, and remediate host.
C. Import patches, create the baseline, atach the baseline, and install updates.

D. Import patches, reboot the ESXi host, create the baseline, atach the baseline, and remediate host.

Correct Answer: A

QUESTION 5

Which three disk formats would be used on an NFS data store? (Choose three.)
A. thin

B. thick

C. 2gbsparse

D. eagerzeroedthick

E. rdmp

Correct Answer. ABC

QUESTION 6

A vSphere cluster is presented a large number of data stores with similar sizes and capabilites for a virtual machine.
The customer asks how to handle virtual machine placement and lower operatonal overhead. How should the customer
proceed?

A. Dedicate and provision data stores on a per VM basis.

B. Use Powerpath VE for mult-path data store access.

C. Leverage storage vMoton for VM placement.

D. Create a data store cluster and leverage storage DRS.

Correct Answer: D

QUESTION 7

A customer requests a disjointed Layer 2 confguraton on their ESXi hosts to segregate DMZ trafc. Which additonal
component is required in this confguraton?

A. disjointed Layer 2 licensing

B. an access control list for DMZ VLAN



C. a second Cisco Nexus 1000V
D. an extra set of physical adapters

Correct Answer: D

QUESTION 8

Which three components are part of the Vblock System Release Certfcaton Matrix? (Choose three.)
A. VMware vSphere hypervisor ESXi

B. VMware vSphere Server

C. VMware vCloud Director

D. VMware vSphere Client

E. VMware vCenter Operatons Manager

Correct Answer. ABD

QUESTION 9

You upgrade an ESXi 4.x host to an ESXi 5.x host using VMware Update Manager. It appears to complete the
installaton, but the system does not boot. You decide to roll back the host to the previous build. Afer using the Shif-R
opton on boot up, you receive the error "No alternatve hypervisor to roll back to". What is causing this error?

A. The hardware is not supported with the ESXi 5.x.

B. The ISO fle in the baseline is corrupt.

C. The data store containing the operatng system has become corrupt.

D. There are diferences in the boot loaders between the two versions.

Correct Answer: D

QUESTION 10

The ESXi 5.0 servers appear to have hardware problems afer you have powered up the Vblock System

320. You want to view the log fles for the ESXi servers. What are two ways to accomplish this task? (Choose two.)
A. Use the Technical Support Mode CLI.

B. Use the vSphere Client.

C. Use Powershell.

D. Use the Service Console.



Correct Answer: AB

QUESTION 11

You are asked to add two virtual machines to host ESXi01. The host IP address is 1t2.165.138.4. When
you atempt to access the host using the vSphere client, you receive the following error message?

The vSphere client could not connect to 1t2.165.138.4. You do not have permission to login to server
1t2.165.138.4.

What would generate this error message?

A. The wrong IP address was used in the vSphere client.

B. Lockdown mode is enabled on host ESXi01.

C. Host ESXi01 has been powered of.

D. Host ESXi01 is in maintenance mode.

Correct Answer: B

QUESTION 12

Which operatng system requires additonal binaries to apply virtual machine customizaton
A. Microsof Windows 2008

B. Microsof Windows 7

C. Microsof Windows 2003

D. Red Hat Linux

Correct Answer: C
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